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OOl =S THHH | BHE & ALY
200,000, 0002 200,000
= 180,000
2 20,000
SE ALY 2,008,000 2,004,000 A1,000
401 A&BI L= ChY| 2,008,000 2,004,000 A1,000
01 Alt 2,000,000 2,000,000 0
OB LA 2,000,000
03 Al& = CH| 3,000 4,000 A1,000
OBE HAHLAI AlE R0yl 3,000
IHSF AT ME S48 LA 60,000 90,000 230,000
= 30,000
2 30,000
401 AIEBI L= ThY| 60,000 9,000 230,000
= 30,000
2 30,000
01 Alt 60,000 9,000 230,000
ONISHARIY AF S48 LAY
0,000,000 520 60,000
= 30,000
2 30,000
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SA: ALDED
M SELE DR
ol =& d=ad gyl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE MdEEd gl 2,971,266 3,3%, 151 N423,885
=S 2el 519,366 540,151 AN20,785
101 @124H| 14,316 17,251 A2,935
M IRINZZENSES 14,316 17,251 A2,935
OJI2(2ehHS 2tel oAl 14,316
—Jl2= 77,0002 x12H %1362 10,472
-5+ 77,0002 x 1S +6E x4 1,848
— ¢ x=g 77,0003 x 163~ 1 462
—4AEE= 12,782,000 *12% 1,534
201 eet23| 4,200 4,200
02 S3=4gl 4,200 4,200
OJI2(EehHS SEBAMOAIAY SAll
350,000 * 12042 4,200
401 AIEHIZ R OHYI 500,850 518,700 A17,850
01 Al&HI 498,000 515,700 A17,700
OII2(EeHS EXISAt
1,400,000 x200H 280,000
Oz (2eHsS RALS SAk 168,000
OJI2(2ehHS E+AM 2L 50,000
03 A& THYI 2,850 3,000 A150
OJt=2(2eHSAE 0 2,850
=Moot (MESrAEH]) (ME) (M EAY) 2,201,900 2,302,000 100,100
401 Al HIZL 201 2,201,900 2,302,000 100,100
01 Al&HI 2,200,000 2,300,000 100,000
OsZdad UM 2,200,000
03 Al 2HYI 1,900 2,000 A100
OsZHESZ A A2 1,900
FOXA HE(ZAN(HE) (HEALY) 250,000 553,000 /303,000
401 Al HIZ S 0HbI 250,000 553,000 303,000
01 A28l 250,000 553,000 A303,000
OL=X7 ZAIMSOESALY 250,000
3N E32 85,420 105,948 120,528
2= & =elAE FHIES 66,220 86,748 A20,528
101 e124d| 66,220 62,748 3,472
M ORINZZ2NSE S 66,220 62,748 3.472
OM==Xl 2Xl2el 66,220
—&= 77,0003 +77 H+23] 11,858
—&bA 77,0003 +66 2 *23] 10,164
-y 77,0002 x 19 *23] 2,926
— A 77,0002 x99 +23] 15,246
—&A 77,0003 x42H +23] 6,468
—AE 77,0003 122 +23] 1,848
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AN AZUSH
33 IS
Rl WECHH AIZESE EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OIXIA, SN S BE(S1)
2,180&%3,700S 8,066
OUXIA, HHA S Ha(2g)
3802 *8,000& 3,040
OnsdAIEE 3323 (WSS )
2,100,000& ~12& 25,200
Ouskle =1 clt 5,200
OWHEHSIMet S
16,5003 x350H A+ 128 6,930
202 04| 7,700 7,700
01 =LHOHI 7,700 7,700
Ounsge=d
, 00036121 2«6 7,200
OSEAHZZ2C gF 2 2AEE
50,0002 53]+ 500
401 AIZHIX S0HH 861,800 837,000 24,800
= 44,900
o 816,900
01 A28l 859,800 835,000 24,800
OnSASI| |SNEa(SIHAH )
45,000,000& *14] 45,000
OgoEE XS &
4,980,000 * 1000 £ 49,800
= 14,900
o 34,900
OnSEAIZES X ¥ S=(EIHA )
60,000,000 » 14! 60,000
OusStdEIE 5 4X & wi
150,000,000 * 14| 150,000
ORH(CRHEAI) HEM S
400,000,000 x 14 400,000
= 30,000
[Ea 370,000
O==d3)| &= & WA
80,000,000 * 14! 80,000
OblnsEsx =& 6,250,000 «8IH A 50,000
OL=E=It0et &X
25,000,000 * 100 2 25,000
03 AlESTHYI 2,000 2,000 0
OuUSHEAIE EXIAIY 2Ol 2,000
0202579 JHEALE 330,000 188,000 142,000
= 165,000
T 165,000
401 Al HIZL 01| 330,000 188,000 142,000
= 165,000
= 165,000




AN AZUSH
M pEHE M
oRlr WSOHM AIZEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 330,000 188,000 142,000
o=z &ZX 8 1,500,000 80m 120,000
= 60,000
o 60,000
O&Xt12t X 2,000,000 *30m 60,000
[ 30,000
s 30,000
OLHEA & ==X EH
10,000,000 1574 2= 150,000
= 75,000
= 75,000
20IHASHE 211 & 22 73,79% 44,400 29,3%
S 23,348
o 50,448
401 AlZHIZ SO 73,7%6 34,400 39,3%
== 23,348
o 50,448
01 Al&HI 73,7%6 34,400 39,3%
OoztolgAs2dd 4R
8,600,000 *4JH 2 34,400
OHAsSHE Y ZHAL £X
1,340,000 #5704 2 6,700
= 2,000
o 4,700
=S 15,000
s 15,000
OHASLE SAgAT &X|
2,116,000 6 2 12,696
= 6,348
= 6,348
O 0IHA s23E =7A2c 20,000
SNEEED] b doa 2,603,000 693,000 1,910,000
== 300,000
o 2,303,000
401 AIEHIZ SR 0HYI 2,603,000 693,000 1,910,000
[ 300,000
T 2,303,000
01 Al&H| 2,600,000 692,000 1,908,000
OFAYE AN S+t 2,000,000
OFAE 530t FHN=IE 600,000
= 300,000
Ea 300,000
03 AlESTHYI 3,000 1,000 2,000
OFXEZEAMS AIL20HI 3,000
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AN AZUSH
M pEHE M
el sus A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=sus X2 4,796,966 4,574,736 222,230
= 228,900
[ 530,000
Jl 71,415
< 174,345
= 3,792,306
242 N 1,712 361,453 A339,741
= 3,514
= 8,198
301 EtE N = 1,712 1,712 0
= 3,514
Ea 8,198
14 JIEt2 a3 1,712 1,712 0
OHAIRS It X3 9,600
=S 2,880
s 6,720
OHAIR= i =®HE)| Selz & 2,112
= 634
s 1,478
sHEHAXZA 1,401,375 1,175,634 225,741
= 225,000
< 80,750
= 1,095,625
307 glztol & 1,401,375 1,175,634 225,741
= 225,000
== 80,750
o 1,095,625
09 2 AHEXS 1,401,375 1,175,634 225,741
OsHEHA MEXZ 339,741,000 339,741
< 80,750
s 258,991
O8Xd &=a=2a 865,000
= 225,000
Ea 640,000
Oot2es =42y 196,634
WS XA 238,982 238,982 0
Jl 71,415
s 167,567
307 glztol & 238,982 238,982 0
Jl 71,415
= 167,567
05 212t =S 238,982 238,982 0
OSgusS=+H =gl 187,946,000 187,946

_20_




AN AZUSH
M pEHE M
el sus A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 49,815
s 138, 131
O XAl 28| 36,000
Il 21,600
2 14,400
OSEUELT igtaaz
15,035,680& 15,036
BHAIZRE K& 75,000 7,800 67,200
= 3,900
= 71,100
301 EtE NS 75,000 7,800 67,200
= 3,900
Ea 71,100
14 DBt 2 a3 75,000 7,800 67,200
O=Al M3t 24X
75,000,000 * 14! 75,000
= 3,900
s 71,100
AFSKE 2,270,000 2,049,000 221,000
s 530,000
s 86,000
s 1,654,000
301 EtE NS 1,095,000 1,095,000 0
[ 100,000
[Ea 995,000
14 JIEt2 8= 1,095,000 1,095,000 0
Od=Z=A N2 1,095,000
s 100,000
= 995,000
307 elzto| & 1,075,000 954,000 121,000
[ 430,000
== 86,000
= 559,000
09 2+AE2LS 1,075,000 954,000 121,000
Og=EsHA X 1,075,000
= 430,000
[ 86,000
Ea 559,000
401 Al HIZL 01| 100,000 100,000
01 Al&HI 100,000 100,000
Og=s=ad &4 20,000,000 #5002 100,000
HAZZAIAE(BIS) 22 19,573 21,000 A1,427
308 AHAIEMSOIE 19,573 21,000 A1,427
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AN AZUSH
M DSHI N
=t isus XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 SIS0t 4 A AS A 19,573 21,000 A1,427
OHAZZAIAE(BIS) SXIL==H 19,573
Hsus 2SN 143,996 71,667 72,329
201 er23y| 36,620 30,620 6,000
01 AtR2t2|HI 35,420 29,420 6,000
OgAIllE 2882
70,0003 *32CH* 1200 26,880
OHAIOIZ 288 &= MH
220,000 »32CH 7,040
O3 EHUE |KN2(AZE ) 1,500
02 S3=gl 1,200 1,200 0
OHOIE HdSSsEA e 012z
50,0002 <201 A% 120K 2 1,200
307 @I2t01 & 89,960 8,400 81,560
09 2FHEXS 89,960 8,400 81,560
OSEH0IE dH2| 8,400
OSEH0IE dot= & HIIes
190,000 #2042+ 123 4,560
SEHOIE 34 & 2 77,000
308 AXIHMSOIA 17,416 17,000 416
07 MK A2 E = 17,000 17,000 0
OsHEHA AXZAHE =, & 2F) 17,000
11 S [2S0 e 4 A AS A 416 0 416
OHAIZHE22CIAAE 23| 416
BtE2xs X2 627,000 627,000
307 elztol & 627,000 627,000
09 2 AHAELES 627,000 627,000
FHEXZ N= 627,000
— 0 52,002
—3t= 574,998
ZEI0IE EHIA 9,328 0 9,328
== 4,081
= 5,247
402 QI”F X201 & 9,328 0 9,328
= 4,081
[Ea 5,247
02 QI A2 AL E (01X THE) 9,328 0 9,328
OWATSIHEDIE EBIAIL
9,328,000 9,328
=S 4,081
s 5,247
XNus HX|A 110,000 123,300 A13,300
& 64,000




AN AZUSH
33 IS i
gelr 2Xus X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 46,000
SSEAl AZ A 110,000 123,300 213,300
=S 64,000
s 46,000
301 EtE NS 110,000 123,300 13,300
< 64,000
[Ea 46,000
14 JIEt2 8= 110,000 123,300 A13,300
SSHEAl RIZ A 110,000,000 110,000
S 64,000
= 46,000
WSEAEE 18,860 18,860 0
= 1,200
& 1,800
= 15,860
DEXNEY 6.860 6,860
307 elztol & 6.860 6.860
02 2B HAIAE & 6,860 6,860
OsA00iL=l X1 4,560
OZ2H28 A= XI& 2,300
VEEMA 2GS AAEY K@ 12,000 12,000 0
= 1,200
= 1,800
Ea 9,000
301 EtE2 NS 12,000 12,000 0
= 1,200
= 1,800
= 9,000
14 DBt 23 12,000 12,000 0
Oeldiel2 XI& 200,000 %60 12,000
= 1,200
< 1,800
s 9,000
HH2LZH(ALnSH) 38,148 37,258 890
el 2E | 5,450 5,450 0
el E2d| 1,000 1,000 0
202 04| 1,000 1,000 0
01 =LHOLI 1,000 1,000 0
OENZdg: =& 1,000
Caae|E 2l 4,450 4,450 0
201 er23| 2,450 2,450
01 At2teltl 2,450 2,450
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Far~mi=mi;
$H2AH| (AL DS
oz 2| &2)
S - BB - ER(S1) - IRAY - BaS A
Oz el 1=t 2,450
—ot&J| I g 150,000& *7 & 1,050
—sZJ| UIs 7Y 200,000 +7 1,400
202 044l 2,000 2,000
01 =LHOLI 2,000 2,000
OE2 FAlZel oyl 2,000
=22l 32,698 31,808 890
Jl=2&Hl 32,698 31,808 890
201 L2 23,002 2,112 890
01 AtR2telbl 22,284 21,34 890
otE=s 723,000 427 2,892
O=AEX 25,3003 202t A+ 123 6,072
OSAPDI itz 770,000& * 128 9,240
OAIREEHI 1,500
O&=)| gz 63,0002« 128 756
OS3&EEI| Xz
38,0003 =401 =128 1,824
02 324l 718 718 0
OLIHAZXHAIX OlER2=
40,0002+ 122 480
OZZE S BHNE 4418 0ISSMRS
19,8008« 128 238
202 OH| 4,536 4,536
01 2L AL 4,536 4,536
OR A2 =LY
20,0003 27 B+ 12 +70% 4,536
203 B2 =L 5,160 5,160
M FA2HLRFEI 5,160 5,160
ORAM2Y dRF2aH| 430,000 123 5,160
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